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surfaceXs=rt==§

since point F is assumed
to be stationary .

Lastlecture : we showed that for any point Pan the

disc that
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@ determine the point I

o_thd
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Zero velocity . same as the
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Party we know that vT+= -3€

We are looking
for the point I satisfying

~T==E=vI+8xrII

12 The

5 = - 3e+fI)**( xdxyg )
0 = -3€ *xf + ye

×=o ; y= 35
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Fa,==3f

Part@_ find Ta ; two ways .
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TIQ= FAQ - FA,== -1.121-0.281
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Gig A string is attached to the edge of

the Spool ,
and wound around it

.

The spool is

unwinding as it slides down the decline
,
with

its center C having speed o.lu/sec
.

Find : the velocities at points A
,
B

, D. E .

Solution the key physical constraint is that÷
TA=0 ,

whereas point B is allowed
to slip .

We need to find w : v== -0 .ie

- o
.

Ie = NT = #g+ utxrac = Ex f 0.255 )

=D w=(T.es )=-Faradlsec

Now we can compute the velocity of any

point P via Xp = utxrap

AB = Ex }Ap= C- 0.414×(-0-55)=-0 .zd

Mls
.

Other points
'

velocities involve similar

Calculations .
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Given the picture ,
and there is no slip

between the disc and surfaces
.

( radius - 0.2in )

Find : the velocities of points B and C
.

No slip constraint : Ta

-=5e# = -3€

Letsget- Fa = #twxrioa
5e= -3€ + ( WE )× ( 0.4g )

=D 8d= - w( 0.41€ =D w= -20 radke
.
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